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9 Time : 3% °9¢ Hrs. R& Class - 9 IX guTieh M.M. : 100
EUsS-3A Part-A 1. aﬁﬁm 999 (Multiple Choice Questions) 1x10
(l)ﬁm H3d Ush ¥ &hl I8 % One of the following is an example of a metal
(A) AE2SH ( Nitrogen ) (B) %’IEE;TGF'I (Hydrogen)
(C) 3™H (Iron) (D) AT (Ocygen)
(ii) = o | THnifis e =1 35 7= 2
One of the following is not an example of a unicellular orranism
(A) HET (Amoeba) (B) SHifam (Paramecium)
(C) ST (Chlamydomonas) (D) BRIl (Hydra)
(iii) o€ e S TR TR H 7fa & fog I @
The tissue that is responsible for the movement in our body
(A) HIISTt FdF Coonective tissue (B) YA Ix0 Muscle tissue
(C) df= as (Nerve tissue) (D)Tiadifeaad Saa Epithelium tissue
(iv) 99 ST 1 VTSR Fgd & The amphibians of plant kingdom is called
(A) YSTHIZE (Thallophyta) (B) 2ftSYwger (Preridophyta)
(C) STATHTET (Bryophyta) (D) fo=ad (Gymnosperm)
(v) SNTE 3N & 31 9a Us 1 a&g R fawia i 8 e §, 9 W ad
1 TRH @111 Two forces of SN and 3N are acung on a same object in
opposite direction. The magnitide of the farce on the object will be
(A) 4N (B) 2N (C) 8N (D) 5N
(vi) T Wa-Aargds Rl g3 9% &1 Tast et 1 1H
The value of the Kinetic energy of a freely falling object ~
(A) 7939 W € remain fixed (B) AT AT ® Keeps on increasing
(C) ¥di &dl g Keeps on decreasing (D) I BT ¥ Becoines 2666
(vii) @ &l 9 f 84 @ forad sfusrem @ €

In which of the following is the speed of sound maximum

(A) 9T H (In the water) (B) ¥iT | (In Iron)

(C) ¥ H (In the Air) (D) fAaf@ ¥ (In the vaccum)
(viii ) AR AT 1 WEEH %’ : ( The vector of Malaria 1S ) —

(A) Tl (Dog) (B) O] WGl (Housefly)

(C) #={ (Mosquito) (D) WIS (Protozoa)

(ix) arg g/ &e arem A1 78 § © (If is not an air borne disease ) -
(A) T - (Corona Virus) (B) T (Cholera)
(c) FHfran (Pneumonia) (D) &4 A7 (Tuberculosis)
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(2) ~ RISIX4
(x)4= TI3E IVE & o Soer 9 ¥ Gas responsible for green house effect is
(A) CO, (B) O, (C) N, (D) SO,

2. = = = Qﬁ SIST Fill in the blanks - 8x1'/ =12 AF
(i) T hTe SRS A ... FEA B | Solid Carbondioxide is called ...

(ii) fordlt oo #t Soiom wfem s9 a = ... e
The combining power of an element is known as its ..........
(iii) 99TV T famat wven & Sufeem Hfyswmay s S TSN g ... BRI S &1

T © | The maximum number of electrons present in any orbit of an atom is

S detrmined by the formula ......
{ (iv) 901 T F A A ... & GHEITH BT IIENT BT & 1 Isotope of ....
{ ~ is used in the treatment of Goitre )

| (v) S ¥ 3= N =1 Feowor ... q I 2

. Synthesis of protein inside the cell takes place in

| (vi) & & a0 SUTET 9T @ L Fed ¢ |

The liquid basal part of the blood is called

lllllll

(vii) &S =1 Wy fooet ... Fdeh w1 51 el © |
The rind-of the coconut is make up of .............. tissue.
(viii) 979 SATT 3FYRON ............. AT 3 S ot

The concept of five kingdom was given by ............

3 awﬁaw AT Very Shont answer type questions 12x] /=18 3%
{ (i) fe==& uwig fFa F8d 2(What is Tyndall effect?)

‘- (ii ) afx fordt Taam] & seieiFl il e s ¥ iR W2H =) g@n ot 8 £ a5
TTHN] T GLATY HEAT T FA? 1f the number of electrons in 4n atom is &
and number of protons is also 8, whut will be the atomic number of the atom?

(iii) T ST 1 SMHIST FT JIYAT 82 What does 4 car’s odometer measure?

(iv) IISH &9 Feq ’é"? ( What is inertia?) -

(v) T&F 1T i vt 3R SH F7= Hi e § 9918 7 iz 7 fird & o
IS T Ve, I 75 9 ot =) findt &2 (Why will a sheet of paper
fall slower than one that is crumpted into a ball,)

(vi) TF & HE s IR ST (Define One Jule of work. )

(vii) T ®9 4 firan @& fijz siaq: YT T TR W o € | s

, "Tﬁﬁl Sl =hl 941 T 22 A freely falling object eventually stops in reach-
ing the ground, What happens to its Kineti e in i |

Foi) aﬁgév:-ﬁ 'ﬂh"qﬁa;%?(?f - a-.';ﬁm';; energy? Explain it.

Why are sound waves called mechanical waves?)

(ix) | 999 & $MH % forg T IO 7 e} &2

(Wha't':iﬁ.%ra:dible range of the average human ear?)
(x) W3 &3] .87 (What is the green hoiise effect?)

(xi) WIGdaR 71 82 (What are weeds? )
(xii) fafya woe & 7 19 8?2 (What is meant by mixed cropping. )
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- Part-B TTEHAUHS W Short answer type questions 12x2%=30 3

4. ud =t fafi= srawwatt & oif ® ofaR T« FT ! (Explain the
difference in properties of different states of matter.)

5. Thago fFEd o &2 F=fatea fagon ] 37% 92! & 90E 7 &) Gfudl &
9 f&@&T | What is Mixwure? Name the Methods to separate their components
from the following mixtures. (a) _‘\'3’1 ¥ HFET Butter from curd
(b) qH%h 'é W Camphor from Sall (c) Sl @ %Ia Oil {from walter

6. TfatEa H;:ﬁ sl 'Fl'c\'ﬁh A1fiTen] o6 -TH fﬂﬁﬁQ Write down the names
of compounds represented by the following formulae
(a) AIL(SO), (b)cCacl,  (c) KSO, (d) CaCD,

7. & el O R ¥ WY Aed & o SR |

(Draw a sketch of Bohr's model of an atom with three shells.)

8. HIH ¥ HH Q 3in F faseir HEqa 7 AR FA? (Which or-

ganelle is known as the power house of the cell? Why?)

9 URY SME F UH YaOiE a3 F qemm § Fiigd S i (Classify the
10, g IR Fd T &2 ol 38 T AT gt i 36 Y i ST

. circular motion of objects.)
1%. HicTd A il HiciH B q a9 hiSTd Match Column “A* with Column “B’

FAH A’ HieH ‘B’
(i) o (F) (a) ==
(i) X (a) (b) mV, +mV,
i) Ea (P) (c) ma
(iv) mu, +mu, (d) F
(v) P.,-P (e)

my

12.@%%%@%?3? ¥ e 3 -uam faa:
(What is Archimede's peinciple? Write any two applications of this principle. )

13. (a) O (SONAR ) ﬁ?l{(l'ﬂﬂﬁi'@l ( Write the full form of SONAR )
(b) THMRS ATl PR IHST %?ﬁrqwtaﬁmmﬁm?ﬂ:m
& €2 (How bats use ultrasound to catch a prey:.)

14. FF I Faaal 94l GIERL H e ddrzd | Distinguish between loudoness

and intensity of sound. o A
15. FA FEEUT T & & -3 2yar &2 What is water pollution? How does it happen?
WUE-T Par{.C a8 SAUCHD A1 Long answer type questions  5x3=1 S
16. ﬁqzmmmﬁﬁ?wmaﬁg@aﬁﬁml (Who gave the
. binomial system? Wnite the salient features of this 'syste;n.) |
17. Sgait ai dhf & it e o He a7=qx N &2 Waht is the

. i ] - - - q
. basic difference between the basis of plant and animal classificauons:
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13, Fpe ferareemdl | S 1 W T 3YS1 T8 | SURS & YR W 7 e |

Whether work is taking place or not in the following activities? Explain with
reasons. (a) qH1 Teh dlid ﬁ %\‘{ 13':[ % | Suma is swimming in a pond.
(b) 'QEE"I"}%{ AT TS WIS T A donkey is carrying load on its back )
(¢) 3= & < g4 F1 Y9 ¥ Y& W T | Food grains are getting dried in the sun.
19. fadt st atn =t safa, SEdae agn SAAE ] 341 AW 8 2 What do you
mean by frequency time period and amplitude of a sound wave?

20. YSHfa | I R A H1eA =oh S Giad G0 hii9e | (Give a pictarial

description of the carbon cycle found in nature.)

@|ue-T ( Part-D ) FRe~ureas A Essay Type questions : 3x5=135

21. () gregie f6a =ed €2 395 < suam faar! 1%
(What is an isolope? Write any two uses of it.)

(F) TEIISF T & THEfel & A forat | 1%

( Write the names of the isotopes of Hydrogen atom.)

(W) difeam Y] 1 woie T saaie faae fafan 2 |

( Write the symbol and electronic on figuration of Sodium atom. )

22. () THY IAYU HLA G ThHABYS HiAe! sig o fog s 9 @

T €7 In which kingdom is the unicellular organism eukaryatic that performs

photosynthesis placed. (&) fore=easd 3 s 'Q'ch‘—'{!-f( 4§ fem R fi=

¥? How do gymnosperms and angiosperms differ from each other? (¥) frerim

s IO ° A IR &2 IXE FR TR FHITAA( What is the difference
between cryptogames and phanerogames? Explain with example. ) 5

AL/ or -

(31) Sg A & foh |H F 99 Ff F §9 H S a1 &2 Which phylum of
;animal kingdom is known as flatwarm. (|) q=tt 11 3R TR 11 ¥ Elﬁaiﬁ | |
IR B A< T Tﬁﬁﬂl Explain difference between birds and mammals with |
examples. () i ﬁmwﬁaaﬁwﬂa fa 99 =t fa99a 2 The water
conducting canal system is characteristic of which phylum of animal kingdom?)

23 . () ffas FH9 fFQ HEa € 2 What is potential energy? (/) H G 7
fam fer@ | Write the law of conserevation of energy. (¥) 12 faium zeaqqm
o TR w1 Fafrea Fwm W fera ¥ 13k g A feafee s aso st &

7] F U F W Jerg F WA [g= 10ms] (An object of mass 12 kg, is a1
a cerain height above the ground. If the potential energy of the object is 480J. find
the height at which the object is with respect to the ground. [g= 10ms?) 5

HIFT /or
N (3) viw = ¥ PR W v A feral | What is power? Wite the
formula und unit of power. () ¢ =af 100 AR @& o Wafks 10 W sem

% 3 30 focr o Faran g Forgm 30 it @9 N2 1 0 person bums & 100w bulb
for 10 hours a day, how many units of electrical energy will be consume in 30 days.)
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